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Note:	 The Question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

ZmoQ> :	 ¶h àíZ nÌ VrZ IÊS>m| "A', "~' VWm "g' ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma CÎma Xr{OE&

	 Section - A	 10 x 2 = 20
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question, 
delimit your answers in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

(IÊS> - A)
(A{V bKw CÎmar¶ àíZ)

ZmoQ> :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZ AZwgma EH$ 
eãX, EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ 
àíZ 2 A§H$m| H$m h¡&
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1)	 (i)	 Write any two causes of poverty.

		  Jar~r Ho$ {H$Ýht H$maUm| H$mo {b{I¶o&

	 (ii)	 What do you mean by personal disorganization. 

	 d¡¶{³VH$ {dKQ>Z go ³¶m Ame¶ h¡?

	 (iii)	 What do you mean by air pollution? 

	 dm¶w àXyfU go AmnH$m ³¶m A{^àm¶ h¡?

	 (iv)	 Define Unemployment. ~oamoOJmar H$mo n[a^m{fV H$s{O¶o&

	 (v)	 Write any two causes of corruption.

	 ^«ï>mMma Ho$ {H$Ýht Xmo H$maUm| H$mo {b{IE&

	 (vi)	 What do you mean by e-commerce? 

	 B©-H$m°‘g© go AmnH$m ³¶m A{^àm¶ h¡?

	 (vii)	Write any two types of poverty? 

	 {ZY©ZVm Ho$ {H$Ýht Xmo àH$mam| H$mo {b{IE&

	 (viii)	What is the meaning of Natural Pollutants?

	 àmH¥${VH$ àXÿfH$ H$m ³¶m AW© h¡?

	 (ix)	 What do you mean by Rural Employment Program.

	 J«m‘rU ñdamoOJma H$m¶©H«$‘ go ³¶m Ame¶ h¡?

	 (x)	 Write any two causes of family disorganization.

	 nm[adm[aH$ {dKQ>Z Ho$ H$moB© Xmo H$maU ~VmB¶o&

	 Section - B	 4 x 10 = 40
(Short Answer Types Questions)

Note:	 Answer any four questions. You delimit your answer in 
maximum 200 words. Each question carries 10 marks.
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(IÊS> - ~)
(bKwÎmamË‘H$ àíZ)

ZmoQ> :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 200 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Discuss the concept of social integration in India. 

^maV ‘| gm‘m{OH$ EH$sH$aU H$s AdYmaUm H$s {ddMZm H$s{OE&

3)	 Describe the causes of unemployment in India. 

^maV ‘| ~oamoOJmar Ho$ H$maUm| H$s MMm© H$s{OE&

4)	 Describe the concept of son of the soil. 

"^y{‘nwÌ' H$s AdYmaUm g‘PmB¶o&

5)	 Show the difference between social organization and social 

disorganization. 

	 gm‘m{OH$ g§JR>Z Ed§ gm‘m{OH$ {dKQ>Z Ho$ ~rM AÝVa Xem©BE&

6)	 Discuss the evil effects of corruption in India.

	 ^maV ‘| ^«ï>mMma Ho$ Xþîà^mdm| H$s MMm© H$s{OE&

7)	 Write a comment on meaning and treatment of AIDs. 

ES²>g Ho$ AW© Ed§ CnMma na EH$ {Q>ßnUr {b{IE&

8)	 Elaborate the meaning of personal disorganization. 

d¡¶{³VH$ {dKQ>Z Ho$ AW© H$s {dñVmanyd©H$ ì¶m»¶m H$s{OE&

9)	 Analyze the status of women in India. 

^maV ‘| ‘{hbmAm| H$s àpñW{V H$m {díbofU H$s{OE&
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	 Section - C	 2 x 20 = 40
(Long Answer Type Questions)

Note:	 Answer any two questions. You delimit your answer in 
maximum 500 words. Each question carries 20 marks.

(IÊS> - g)
(XrK© CÎmamË‘H$ àíZ)

ZmoQ> :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 20 A§H$m| H$m h¡&

10)	 Define corruption. State the causes of corruption in India.

	 ^«ï>mMma H$mo n[a^m{fV H$s{OE& ^maV ‘| ^«ï>mMma Ho$ H$maUm| H$s MMm© 

H$s{OE&

11)	 What is family disorganization. Explain the causes of family 

disorganization in India.

	 nm[adm[aH$ {dKQ>Z ³¶m h¡? ^maV ‘| nm[adm[aH$ {dKQ>Z Ho$ H$maUm| H$s 

ì¶m»¶m H$s{OE&

12)	 What do you mean by poverty? Enlist the various causes of 

poverty in India.

	 {ZY©ZVm go Amn ³¶m g‘PVo h¢? ^maV ‘| {ZY©ZVm Ho$ {d{dY H$maUm| H$mo 

gyMr~Õ H$s{OE&

13)	 Define regionalism. Elaborate the causes of regionalism in 

India.

	 joÌdmX H$mo n[a^m{fV H$s{OE& ̂ maV ‘| joÌdmX Ho$ H$maUm| H$m {dñVmanyd©H$ 

CëboI H$s{OE&


